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It's likely that ... IXAREZEIA...

what's far more important is that 55 B 2 [ /& ..
It's hardly that... 1RXE. A KATRE......

It has to be noticed that... ‘& AZIVE R ...

As far as ...is concerned  Ft ... &

Asthe ... says IEWI.. BT,  5IHREIEA]

There's no denying the fact that ZZ TS5 A, LA &0

Nothing is more important than.... % EATA L. B EZE
10. It can be said with certainty that. .. i] LA & Hiik...
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5. It's generally recognized that... Af13#EIAN ...
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Further, we hold-opinion that... BtAh, FATREFAN, ..
A casg in pointis ... —AMAMIEIT ...

However, | always think.....2R 1, &—EHiAN

Take... for example LA... 4l
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5. It made me realize.....iX k3R iR F
6. In this respect M A& X

7. In spite of the fact that... R FSE..... In spite of R

8. But the problem is not so simple. Therefore {H a3 AFtnkfaise, Fik... ...
9. Butit's apity that.....{H &1 2

10. Further, we hold opinion that... Bt4h, FRATEFFAA, ...



11. However, the difficulty is that | ....8R1f1, FXEET ...
12. Similarly, we should pay attention to... [FJ¥f, FRATN M4IER...

13. As it has been mentioned above... 1 FRT ... CF Rl T AT ) R53E4 T 4 b 7R3
)
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I will conclude by saying ¢ & 251 ...
| hope... have a bright future 72 AR AR
Therefore, we have the reason to believe that Kk, FANTEHBAMHE ...

It may be safely said that... 7] LA {E42 130 ......
Therefore, in my opinion Xt~ E K

Only in this way, can we... XA, FATARE ...
I will do my best 24 /7 LLth

Thank you for-listening B /R 1 #2 Wr

10. From the above, we can draw a conclusion i UL F %S, ATLIEH S

1
2
3
4. All things considered= In a word=In conclusion. &1 & 2
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first, then, finally B%¢, Hk, &G
Just like ... said #t1%... 0
Well-known example Ax AT J& i1 ) 1 1

A common example —ANF L4511
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5. Usually we are used to give examples like this 387 341121 15T 45 H X BEK) 11
%
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1. Some people think that .... AL AN ...

2. As ...said ffh AT

3. Ido not think so FEAXFEIN N

4. My reason is as follows & 0T

5. 1 think this view is correct because I\ AIX ML A2 IERAT, BN

6. 1 don’t completely agree, | have a better idea JAEA[EE, A —ANFEIHKE
=

7. Along with the development of..., more and more....fE%&. ... IR RE, Jokik

8. It can be said like this 7] LAIXFE

9. Based on the above content, | come to a conclusion HR#IELL EHRZ, REH—4
gEit

10. Most people usually think...However X343 NiEH AN, SR 1M
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A is completely different from B. (A il B 524 AN H)

A and B are exactly the same. (A 1 B 5E4H[F)

The difference between A and Bis... (AFIBAIX )

The reason why A is better than B is... (A% 5B 5 i i 5 )
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1. There are several reasons, but generally it can be attributed to the following main

onesRAEIHIRZ , (H— AT LUHZ LA JUA FE K



2 . There are not many solutions to this problem, I think the following three are the
most effective. XA ZRFR TR, FIANLLT =Mt A 300

3. Generally, the advantages can be listed as follows. — &3, 4 & AT LA Zé4n
F o

4. My answer to this question is as follows XX A 7] 8 (1) [5] 2 4 (AT LA SR A1)
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As a result ofthis study, we have learned a lot. JEMIXRES], BA1HF TIRE
PN

After this study, we would learn & lot. &ilix k2>, BATHF TIRZ

We read the book; as a result/ therefore / thus / hence / consequently/for this
reason / because of this, we've learned a lot. H T [IX AT, FAICEH

BTIRZ

As a result of /Because of/Due to/Owing to reading the book, we've learned a

lot. HFHEEXAT, HANCEFR TIRE .



